MY NPHNNININNT MNNY

2 993909 MNINg
1 naywn
. ( E)’-dt
U (ezxy) =xe” +e* apn e =™ pIMA INNYNN NN D9 LN
- 2X - X X 1
y=ce¥+er+2- =
2 4
K 5 1
y=cx+x* U 8@/_9 =1:apne =€ == o nxnenn nr e 3
eXg X
In"™(x)

m
INNWHN NN 993) . YO+ y= :92pn xIn(x) 2 nxnwnn IxpoNY

xIn(x)”  xIn(x)

U (Inm(X)Y)( =2 22PN eom = e™("M) = In"(x) o

-y =In""(x)c +In(in(x))

_ 2
9923 X¢- Exz - Y X2 ey nxnwn vapy U ox_3x-y U dy__y -
dy y dx 3x-y
..< 53
a&ex 0
X=cy’+y* U iS: =- iz vapm e | =e 3 :ia DM NRNWHN NN
Y o y y
2 NN

t
YN OPNRINNIPY. B3 0 1x(t) £0 W, B+ R(S)X(S)ds =0 ox

to

ét u
-X(t) £0£ Bexpécp(s)dsu
:X s

X(t)

t

B+ cp(s)x(s)ds

MINN 22PN a(t)(a(t) @ 0) 2293).

£195 9PY NN PMNY-RN NN

STPXMOIN



In(B + t(‘ja(s)x(s)ds) _InB EI(‘ji(s)ds b .t(‘) X(a(s)ds ¢ t(‘ji(s)ds

b to fo B+(‘ja(r)x(r)dr to
t

t t t
X() £ B+ ca(s)x(s)ds = yman ymvwnn an . B+ cp(s)x(s)ds £B exp(((s)ds) won

to f to

ét u
. X(t) £ Bexpégp(s)dsi 5 yan

& ¢)
3 Nawn
5apn z= y* p, y¢ ytan(x) = y* cos(x) pvma mxnwn s
(i)t
e =g ¥l = = pyma mxnwnn v em U 2+ 3tan(x)z = - 3cos(x)

COs™ X
(

U z=ccos’(x)- 3sin(x)cos?( 292
cos®(

" cos? x)

1

y= i/ ccos®(x)- 3sin(x)cos?(x)

4 naywn

,, ( o
U (e*y) =e™f(x) oapm e =e™ o1ma mxmwnn nx e

y(x)=e ax%% +0Of (s)e""sdsg
0 )

of (s)e™ d% g £

0 2

e‘axgq + af (s)eas|dsg: e‘a"gq + Z‘jf (s)|easds%£ e‘axgq + Z‘j\/leasdsg: e‘a"ﬁq +Mealx 0
0 {7 0 7] 0 o e a

2

|y(x) =

c+ E‘)f (s)easd% £ e‘axgeq +

0

e axé% +of (s)easdsg g™
( .

e+ el e
a a

[0,%) yopa orwn yns 93 1

5 myvn

22159 0919 DMV MMIND Y, Y, Vs ¥ NI
ysta(x)y; =b(x) (3, y,ra(x)y, =b(x) (2),y,"*a(x)y; =b(x) (1)



- E‘p(s)ds
(4) Y- Y1 = Cle XO U (y3' yl)l+a(x)(y3 - yl) =0 :Db

- E‘p(s)ds
(5) Yo- Y5 = Cze ° U (yz - y3)'+a(x)(y2 - ya) =0
ovapn 5)1(4) n
. Y- ¥s — &
Ys- 1 Cl

=c=const.



